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package main

inport (
"t
" gi t hub. conf gogf/ gf/v2/frame/ g"
"gi t hub. coml gogf/ gf/v2/ os/ gct x"

)

func main() {
type Parans struct {

Page int ‘vi'required/ mn:1 # page is
required"”

Si ze int “v:"required| between: 1,100 # size is
required"’

Projectld string "v:"between: 1, 10000 # project id

must between {m n}, {nax}

var (
ctx = gctx. New()
obj = &Par ans{
Page: 1,
Si ze: 10,
}
)

err := g.Validator().Data(obj).Run(ctx)
frt.Println(err)

/1 Qutput:
/1 <nil>



package main

inmport (
"f ot
"gi t hub. conf gogf/ gf/v2/ cont ai ner/gvar”
"gi t hub. conf gogf/ gf/v2/frame/ g"
"gi t hub. conf gogf/ gf / v2/ os/ gct x"

)

func main() {
type Parans struct {

Page int vi'"required| mn: 1l # page is
required"”
Si ze int “v:"required| between: 1,100 # size is
required"”
Projectld *gvar.Var "v:"between: 1, 10000 # project
id must between {min}, {max}""
}
var (
ctx = gctx. New()
obj = &Par ans{
Page: 1,
Si ze: 10,
}
)
err := g.Validator().Data(obj).Run(ctx)
fm.Printlin(err)
/1 Qutput:
/1 <nil>
}

3

Of al se



package main

inmport (
"f ot
"gi t hub. conf gogf/ gf/v2/frame/ g"
"gi t hub. conf gogf/ gf / v2/ os/ gct x"
)

func main() {
type Parans struct {

Page int “vi'required/mn:1 # page is
required"’
Si ze int “v:"required|between: 1,100 # size is
required"”
Projectld int “v:"between: 1, 10000 # project id nust
between {min}, {max}""
}
var (
ctx = gctx. New()
obj = &Parans{
Page: 1,
Si ze: 10,
}
)

err := g.Validator().Data(obj).Run(ctx)
fmt.Println(err)

/1 Qutput:
/Il <nil>

project id must between 1, 10000

4dmap

package nain

import (
"gi t hub. conf gogf/ gf/v2/frame/ g"
"gi t hub. coml gogf/ gf / v2/ os/ gct x"

)
func main() {
var (
ctx = gct x. New()
paranms = map[stringlinterface{}{
"passport": """,
"password": "123456",
"password2": "1234567",
}
rules = []string{
"passport @engt h: 6, 16",
"passwor d@ equi red| | engt h: 6, 16| sane: passwor d2",
"passwor d2@ equi red| | engt h: 6, 16",
}
)
err := g.Validator().Rul es(rules).Data(parans).Run(ctx)
if err I'=nil {
g. Dunp(err. Maps())
}



passportrequi redpassport

"password": {
"same": "The password val ue “123456° nust be the same as field
passwor d2",
3
}
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